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General Instructions:-

1. Write your application number in the space provided on the top of this page.

2. This question booklet consists of fifty multiple-choice types of questions.

3. Atthe commencement of examination, the question booklet will be given to you. In the first 5
minutes, you are required to open the booklet and compulsorily examine it as below:

) To have access to the question booklet, tear off the paper seal on the edge of this cover
page. Do not accept a question booklet without sticker-seal and do not accept an open
question booklet.

(i) Tally the number of pages and number of questions in the booklet with the information
printed on the cover page. Faulty question booklet due to pages/questions missing or
duplicate or not in serial order or any other discrepancy should be got replaced immediately
by a correct booklet from the invigilators within the period of 5 minutes. Afterwards,
neither the question booklet will be replaced nor any extra time will be given.

(i) After this verification is over, the OMR Sheet Number should be entered on this question
booklet.

4. Each item has four alternative responses marked (A), (B), (C) and (D). You have to darken the
circle as indicated belowon the correct response against each item.

Example:® ® @ ©  where (C) is the correct response.

5. Your responses to the items are to be indicated in the OMR Sheet. If you mark at any place
other than in the circle in the OMR Sheet, it willnot be evaluated.

6. Rough Work is to be done in the space provided in the question booklet.

7. You have to return the question booklet and Original OMR Sheet to the invigilators at the end
of the examinationcompulsorily and must not carry it with you outside the Examination Hall.
You are, however, allowed to carry duplicate copy of OMR Sheet on conclusion of
examination.

8. Use only Blue/Black Ball point pen.

9. Use of any calculator or log table etc., is prohibited.

10.There is no negative marks for incorrect answers.




LAW

one (01) marks. Attempt all the questions.

The depth of any research can be
judged by

(A) The title of the research
(B) Objective of the research
(C) Total expenditure on the research

(D) Duration of the research

In the context of survey research, the
following steps are taken in certain
order. Which of the following options
represent the correct order?

1. Sampling

2. Inference

3. Data Analysis
4. Data Collection

(A) 2,3,1,4
B) 1,4,3,2
©) 3,2,4,1
(D) 4,1,2,3

The verification that the method of
measurement actually measures what
it is expected to measure is known as

(A) Content validity
(B) Face validity

(C) Construct validity
(D) Criterion validity

Note: This question booklet contains fifty (50) objective type questions, each question carrying

A null hypothesis is

(A) When there is no difference
between the variables

(B) The same as research hypothesis.

(C) Subjective in nature.

(D) When there is difference between
the variables

Which of the following can best be
described as a categorical variable?

(A) Weight

(B) Annual income

(C) Grade point average

(D) Religion

Research is not considered ethical if it
(A) Tries to prove a particular point
(B) Does not ensure privacy and
anonymity of the respondent.
(C) Does not investigate the
data scientifically.
(D) Isnot of a very high
standard.

‘Shodhganga’ is a repository of
(A) E-Resources

(B) E-theses

(C) E-journals

(D) E-books

Sampling frame is a term used for
(A) A list of random numbers

(B) A list of voters

(C) A list of sampling units of population
(D) None of the above




10.

Match the following;:

List-1I List — IT
(Research (Characteristics)
Type)
a. Historical 1. Past event
method
b. Survey 2. Vision
method

c. Philosophical 3. Present events
method

d. Experimental 4. Future Action
method

Codes:

a b ¢
(A) 1 J 2 4
B) 1 2 3 4
©) 1 4 "
(L 2 1 4 3

If 40% of the people read newspaper X,
50% read newspaper Y, and 10% read
both the papers, then what percentage of
the people read neither of the
newspaper?

(A) 10%
(B) 15%
() 20%
D) 25%

11.

12,

13.

14.

The average weight of 8 persons
increases by 2.5 kg when a person
weighing 60 kg is replaced by a new
person. What might be the weight of
the new person?

(A) 76kg.
(B) 76.5ke
(C) 80ke.

(D) Data inadequate

The institution promoted by the
Department of IT to provide
communication infrastructure and
services to academic research
institutions in India is

(A) INFLIBNET

(B) UGC

(C) ERNET

(D) None of the above

A process by which we estimate the
value of dependent variable on the
basis of one or more independent
variable is called?

(A) Correlation
(B) Regression
(C) Residual
(D) Slope

If the S.D. is a set of observations is 4
and 1if each observation is divided by 4,
find the S.D. of the new observations.

A) 4
B) 16
© 2

D) 1




Directions: The bar graph given below

15.

16.

17.

shows the percentage distribution of
the total expenditures of a company
under various expense heads during
2003. Study it and answer questions
15 to 18.

Breakup of Yotal Expenditure of a Company
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The total amount of expenditure of
the company is how many times the
expenditure on research and
development?

(A) 27
B) 20
©) 18
(D) 8

If the expenditure on advertisement is
2.10 crore, then the difference
between the expenditure on transport
and taxes is

(A) 1.25crore
(B) 95 lakhs
(C) 65 lakhs
(D) 35 lakhs

The expenditure on the interest on
loans is by what percent more than
the expenditure on transport?

(A) 5%
(B) 10%
(C) 20%

(D) 40%

18.

19.

20.

21.

22,

What is the ratio of the total
expenditure on infrastructure and
transport to the total expenditure on
taxes and interest on loans?

(A) 54

(B) 8.7

C) 9.7

(D) 13:11

The probability of impossible event is:
(A) 0

B) 1

(C) Infinite
(D) Insufficient Data.

Which of the
dimensional?
(A) Bar diagram
(B) Pie-chart
(C) Cylinder
(D) A graph.

following is one

How many types of punishments
have been prescribed under the
Indian Penal Code?

(A) 2
B 3
© 4
D) 3

Under section 498-A of IPC, cruelty
includes :

(A) Physical cruelty only

(B) Mental cruelty only

(C) Harassment of the woman
Cruelty by wife

(D)




23.

24.

25.

The maximum ‘De minimus non curate
lex' means:

(A) law would not take action on
small and trifling matter

(B) law does not ignore any act
which causes the slightest harm

(C) law would not take action in
serious matters

(D) all the above

The Supreme Court has ruled that
the person belonging to the non-
reserved class transplanted by
adoption or marriage or conversion
or any other voluntary act to family
belonging to the reserved class does
not become eligible to benefit for
reservation under article 15(4) or
article 16(4) of the Constitution of
India in the case of:

(A) M.D. Kasekar v. Vishwanath

Pandey
(B) Indira Shah v. Union of India
(C) Kumari Madhuri Patel wv.
Additional Commissioner,

Tribal Development

(D) Valsamma Paul wv.
University

Cochin

Broadcasting organizations like TV
and Radio have copy right for a term
of:

(A) 25 years
(B) 50 years
(C) 15 years

(D) 30 years

26.

27,

28.

29.

Doctrine of Recrimination provides that:

(A)

B)

©

(D)

If both parties independent of each
other, have committed matrimonial
offences the marriage should not
be dissolved

If both parties independent of each
other have committed matrimonial
offences the marriage should be
dissolved

If both parties in dependent of each
other have committed material they
should be judiciously separated

Either (B) or (C)

Oral evidence under section 60 of
Evidence Act:

(A)
(B)
©
(D)

The

Direct only
Hearsay only
Both (A) & (B)
Either (A) or (B)

requirement for patentable

invention is that it should have:

(A)
(B)

New
Useﬁil

(C) Non-obvious

(D)

Inventive step

In which case did the Supreme Court
of India hold that an amendment to
the constitution under Article 368
was ‘law’ within the meaning of
article 137

(A) Golaknath v. State of Punjab
(B) Sajjan Singh v. State of Rajasthan
(C) Shankari Prasad v. Union of India

(D) Keshavanand Bharati v.State of
Kerala




30. Plea of Alibi is given under which

al.

32.

Section of the Indian Evidence Act,
1872:

(A) Section 9
(B) Section 12
(C) Section 11
(D) Section 100

In which case did the supreme
court of India hold that a person in
persistent vegetative state can opt
for passive Euthanasia and that a
person can executor living will to
refuse medical treatment?

(A) Aruna Ramchandra Shanbagh
v. Union of India

(B) Common Cause v. Union of
India

(C) Gian Kaur v. Union of India
(D) State v. Sanjay Kumar Bhatia
In the performance of his duty in

exercise of his powers, the
Governor:

(A) is answerable in the court of
law

(B) 1is not answerable in the court of

law

(C) can be impeach by The Vidhan
Sabha

(D) is answerable to the Vidhan
Sabha

33.

34.

35,

36.

1.

The power of the President of India
to issue and ordinance is:

(A) Executive power

(B) Legislative power
(C) Constituent power
(D) Quasi-judicial power

If Speaker of Lok Sabha has to
resign to whom will he address his
resignation letter?

(A) The Prime Minister

(B) The President

(C) Deputy Speaker

(D) Leader of the opposition

Bars to the relief in matrimonial
proceeding as provided under
Section 23 of the Hindu Marriage
Act 1955 include:

(A) Connivance
(B) Condonation
(C) Collusion
(D) All the above

Under section 24 of Hindu Marriage
Act, 1955 maintenance pendent elite
and the litigation expenses are
payable from

(A) Date of main petition

(B) Date of application

(C) Date of the order

(D) The date as directed by the court

Who amongst the following females
does not have a capacity to adopt?

(A) A married female
(B) An unmarried female

(C) A widow
(D) A divorcee




38.

39,

40.

Under section 19 of Hindu
Succession Act, 1956 if two or
more heirs succeed together to the
property of an intestate, they shall
take the property as

(A) Tenants in common
(B) Joint tenants

(C) Either (A) or (B)
(D) Both (A) and (B)

Offspring of Muslim women
marrying a second husband shall
be:

(A) Legitimate

(B) Illegitimate but can be
legitimised by  subsequent
acknowledgement

(C) Illegitimate and cannot be
legitimised by any subsequent
acknowledgement

(D) Either (A) or (B)

What is meant by ‘delegatus non
protest delgare'?

(A) Person to whom power is
delegated cannot make laws

(B) The delegate cannot further
delegate

(C) The delegate can further
delegate

(D) The delegate cannot challenge
the law

41.

42,

43.

Which of the following is true in
case of Government contracts which
do not confirm to the provisions of
article 299 of the Indian

Constitution?

(A) The contract is not void

(B) The contract is voidable at the
option of both parties

(C) The contract is not enforceable in
Court against the parties

(D) The contract is valid

To which of the following actions
the principles of natural justice does

not apply?

(A) Judicial process

(B) Quasi-judicial actions
(C) Rule making action
(D) Admimnistrative actions

In Environmental Protection the
anthropocentric approach means:

(A)

B)

©

(D)

Protection of environment to
safeguard the interest of the urban
population

Protection of environment to
safeguard the interest of rural
population

Protection of environment to
safeguard the interest of human
beings

Protection of environment for
safeguarding the interest of the

future generation




44,

45.

46.

According to Section 2(a) of
the Environment Protection
Act, 1986 Environment refers
to:

(A) Water, air and land

(B) The inter relationship between
water, air, land and human
beings

(C) Other living creatures, plants
and microorganisms

(D) All the above

In which case was section 66A of
the IT Act struck down by the
Supreme Court of India?

(A) Syed Asif Uddin v. State of

AP.
(B) Ranjeet Udeshi State of
Mabharashtra

(C) Regina v. Union of India

(D) Shreya Singhal v. Union of
India

Cyber-squatting is associated with:
(A) IP address dispute

(B) Email dispute

(C) Password dispute

(D) Domain name dispute

47.

48.

49,

50.

The 42 amendment to the Indian
Constitution introduced article 323A
which provides that:

(A) Parliament may establish

®)

©

(D)

tribunals for adjudication of
disputes concerning recruitment
and conditions of service of civil
servants

Supreme Court has no original
jurisdiction involving head of the
State

The state control over District
Courts is vested in the high courts

It is the duty of UPSC to conduct
examinations for appointment to
services of the Union

The principle of rebus sic stantibus

means:

(A) No state can use force against
another state

(B) No state can enter the air space of
another state

(C) A state is not bound if there is a
fundamental change of
circumstances

(D) All the above

The right to innocent passage to
foreign ships within twelve nautical
miles is available in:

(E) The internal waters

(A) Territorial sea

(B) Contagious zone

(C) Exclusive economic zone
Judicial review in Indian
Constitution is based on the basis of:
(A) Procedure established by law
(B) Due process of law

(C) Rule of law

D)

Presidents and conventions




